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Christmas Multiplication

Solve the following word problems.

Santa has 5 bags of gifts. Each bag contains 10
gifts. How many gifts does Santa have in total?

Each reindeer pulls 2 sleighs. Santa has 10
reindeers. How many sleighs do all the reindeers
pull?

Santa's elves made 10 toys each day for 6 days.
How many toys did they make in total?

There are 4 Christmas trees. Each tree has 10
ornaments. How many ornaments are there in
total?

A Christmas shop sells 10 packs of Christmas lights.
Each pack contains 3 lights. How many lights are
there in total?

Mrs. Claus baked 7 batches of cookies. Each batch
has 10 cookies. How many cookies did she bake in
total?

There are 8 rows of seats for the Christmas play.
Each row has 10 seats. How many seats are there
in total?

8 A Christmas tree farm has 6 rows of trees. Each
row contains 50 trees. How many trees are there in

‘he farm?
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